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TNPSC DEO MAIN EXAM – 2023 
Mandatory test IX 

MODERN INDIA  & APTITUDE AND MENTAL ABILITY - I  
 
Total Marks: 300                Time: 3 hrs 
 

Section A 
15 x 10 = 150 

Answer the following in 150 words each 
 

1. Give an account of St. Ramalinga’s religious reforms. 
,uhkypq;f mbfshhpd; rka rPh;jpUj;jq;fisj; njhFj;njOJf. 

 
2. Write a note on Queen Victoria’s Proclamation. What was the importance of Queen Victoria’s 

Proclamation? 
tpf;Nlhhpah kfhuhzpapd; Nguuwpf;if vd;gJ vd;d? mjd; Kf;fpaj;Jtj;ijg; gw;wpAk; 
tpthjpf;f. 

 
3. What were the causes for the rise of nationalism in India during the 19th century? 

19Mk; E}w;whz;by;> ,e;jpahtpy; Njrpa czh;T tYngw;wjw;Fg; gpd;Gykhf mike;j 
fhuzq;fs; ahit? 

 
4. Answer the following 

gpd;tUk; tpdhf;fSf;F tpilasp 
 
a. Write a short note on Blue Water Policy.                     

ePyePh;f; nfhs;if gw;wp rpWFwpg;G tiuf 
 

b. Black Hole Tragedy 
,Ul;liw Jauk; 
 

5. Describe the development of Education in Tamil nadu during the British rule. 
Mq;fpNyah; Ml;rpapd; NghJ jkpofj;jpy; fy;tp tsh;r;rp gw;wp tpthpf;fTk; 

 
6. Discuss the Socio-Economic impact of British rule in India. 

,e;jpahtpy; Mq;fpNya Ml;rpapy; Vw;gl;l r%f> nghUshjhuj; jhf;fj;ij gw;wp tpthjpf;f. 
 

7. What role did Jyotiba Phule and Pandidha Ramabai played for social justice   
N[hjpgh g+Ny kw;Wk; gz;bj ukhgha; MfpNahhpd; r%f ePjpf;fhd gq;fspg;gpid tpsf;Ff 

 
8. Give an account of the Anglo-French rivalry in India. 

,e;jpahtpy; Mq;fpy – gpnuQ;Rf;fhuh;fSf;fpilNaahd gifikia gw;wp vOJf 

 
9. Write a note on Government of India Act 1919. 

,e;jpa murhq;f rl;lk;> 1919 gw;wp Fwpg;G tiuf 
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10. Pre-1857, rebellion against the British were of tribals, whose autonomy and resources were 
threatened by British rule - Discuss. 
goq;Fbapdhpd; jd;dhl;rp kw;Wk; tsq;fSf;F Mq;fpy muR mr;RWj;jyhf tpsq;fpajhy; 
1857f;F Kd;G Mq;fpNyah;fSf;F vjpuhf fpsh;r;rp nra;jth;fs; goq;FbapdNu – tpthjp 

 
11. Describe the Peasant uprisings during the colonial rule in India. 

fhydpahjpf;fj;jpd; fPo; ,e;jpahtpy; Vw;gl;l tptrha vOr;rpia tpthp. 

 
12. Write a detail note on the significance, merits and demerits of 1909 Act. 

1909 Mk; Mz;L rl;lj;jpd; Kf;fpaj;Jtk;> epiwfs; kw;Wk; Fiwfs; Fwpj;J tphpthf vOJf 

 
13. Answer the following questions 

gpd;tUtdtw;wpw;F tpilasp 
 
a. If A:B = 3:4, B:C= 5:7 and C:D= 8:9 find A : B : C : D          

A:B = 3:4> B:C= 5:7 kw;Wk; C:D= 8:9 vdpy;  A : B : C : D fhz;f. 

 
b. Eighty machines can produce 4,800 identical mobiles in 6 hours. How many mobiles can 

one machine produce in one hour? How many mobiles would 25 machines produce in 5 
hours?          
80 jhdpaq;fp ,ae;jpuq;fs; xNu khjphpahd 4800 ifg;Ngrpfis 6 kzpapy; cw;gj;jp 
nra;fpd;wd.  xU jhdpaq;fp ,ae;jpuk;> xU kzp Neuj;jpy; vj;jid ifg;Ngrpfis 
cw;gj;jp nra;Ak;?  25 jhdpaq;fp ,ae;jpuq;fs; 5 kzp Neuj;jpy; vj;jid ifg;Ngrpfis 
cw;gj;jp nra;Ak;? 

 
14. Answer the following questions 

gpd;tUtdtw;wpw;F tpilasp 
 

a. Tap A can fill a water tank in 12 min, tap B will fill the same tank in 10 min and tap C can 
empty the tank in 6 min. If all the three taps are opened together, in how many minutes 
will the tank be completely filled up? 
xU njhl;bia ,U Foha;fs; A kw;Wk; B  jdpj;jdpNa KiwNa 12 epkplq;fs;> 10 
epkplq;fspy; epug;Gfpd;wd. kw;nwhU Foha; C ePH; epuk;gpa njhl;bia 6 epkplq;fspy; fhyp 
nra;Ak;. njhl;b fhypahf ,Ue;J ,k;%d;W Foha;fSk; xNu rkaj;jpy; jpwe;J tplg;gl;lhy; 
mj;njhl;b vj;jid epkplq;fspy; epuk;Gk;?  

 
b. 6 women or 8 men can construct a room in 86 days. How long will it take for 7 women and 

5 men to do the same type of room? 
6 ngz;fs; my;yJ 8 Mz;fs; Xh; miwia 86 ehl;fspy; fl;b Kbg;gh;. mJ Nghd;w 
miwia 7 ngz;fs; kw;Wk; 5 Mz;fs; fl;b Kbf;f vj;jid ehl;fs; MFk;. 

 
15. P can do a work in the same time in which Q and R together can do it. P and Q together can do 

it in 20 days and R can do it in 30 days. If they start work together and work for 6 days. How 
many days Q alone can complete the remaining work?  
xU Ntiyia Q-Tk; R-k; Nrh;e;J nra;Ak; mNj Neuj;jpy; P-ahy; nra;aKbAk;. P-Ak; Q-Tk; 
Nrh;e;J me;j Ntiyia 20 ehl;fspy; nra;J Kbf;f KbAk;. NkYk; R kl;Lk; mNj Ntiyia 
30 ehl;fspy; Kbf;f KbAk;. xd;whf Ntiy nra;a Muk;gpj;J 6 ehl;fs; Ntiy nra;jdh; 
vdpy; Q kl;Lk; kPjKs;s Ntiyia vj;jid ehl;fspy; Kbf;f KbAk;. 
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SECTION B 
10 x 15 = 150 

Answer the following in 250 words each 
 
16. Mention the provisions of 1935 Government of India Act 

1935Mk; Mz;L ,e;jpa murhq;f rl;lj;jpd; Kf;fpa tpjpfis $Wf 
 
17. List out the contribution of European Scholars to Tamil Language 

jkpo; nkhop tsh;r;rpf;F INuhg;gpa mwpQh;fspd; gq;fpid gl;baypL 
 
18. Give an account of the working of the land revenue system under the British India 

gphpl;b~; Ml;rpf;fhyj;jpy; gpd;gw;wg;gl;l epytUtha; Kiwfisg; gw;wp tpsf;fp vOJf 
 
19. Answer the following 

a. Point out the main causes of the Great Rising of 1857 or the first war of Indian 
Independence. 

b. Discuss the results of the upheaval of 1857.  
c. Discuss the course of the revolt of 1857.  
d. Briefly discuss the causes of the failure of the rising of 1857 
gpd;tUtdtw;Wf;F tpilasp 
a. Kjy; ,e;jpa Rje;jpug; Nghh; 1857 Njhd;wf; fhuzq;fs; ahit? 
b. mg;Gul;rp tYg;ngw;wjw;fhdf; fhuzq;fs; vit? 
c. mg;Gul;rpapd; Nghf;ifg; gw;wp tpthp 
d. Njhy;tpAw;wjw;fhd fhuzq;fis tpsf;Ff 

 
20. What were the circumstances leading to the passing of the Indian Councils Act of 1861? 

Describe the main provisions of the Act of 1861. Discuss its merits and demerits. 
1861 ,e;jpa fTd;rpy; rl;lk; ,aw;wg;gl;l fhuzq;fs; vd;d? mr;rl;lj;jpd; Kf;fpa ~uj;Jfis 
tpthp. NkYk; mjd; epiw> Fiwfis Muha;f 
 

21. Write a short note on  
rpWFwpg;G tiuf 
 

a. Subsidiary Alliance 
Jizg;gilj;jpl;lk; 
 

b. Doctrine of Lapse 
mtfhrp nfhs;if 
 

c. Cornwallis Code 
fhud;thyp]; Nfhl;ghL 

 
 

22. What were the circumstances leading to the passing of the Regulating Act? Critically discuss 
its provisions. 
xOq;FKiw rl;lk; nfhz;Ltu #o;epiyfs; ahit? mjd; rYiffis Ez; Ma;T nra;f 
 

23. Write an essay on various social and religious movements that took place in 19th and first half 
of 20th century. 
gj;njhd;gJ kw;Wk; ,Ugjhk; E}w;whz;bd; Kjy; ghjpapy; Vw;gl;l r%f kw;Wk; rka 
,af;fq;fisg; gw;wp xU fl;Liu tiuf. 
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24. Answer the following questions 
gpd;tUtdtw;wpw;F tpilasp 
 
a. A and B can do a piece of work in 12 days, B and C in 15 days, C and A in 20 days. In how 

many days will they finish it together and separately? (9m) 
A, B ,UtUk; xU Ntiyia 12 ehl;fspy; nra;J Kbg;gh;. B>C mNj Ntiyia 15 
ehl;fspy; nra;J Kbg;gh;. C,A mNj Ntiyia 20 ehl;fspy; nra;J Kbg;gh;. %tUk; 
Nrh;e;J kw;Wk; jdpj;jdpahfTk; mt;Ntiyia vj;jid ehl;fspy; nra;J Kbg;gh;? 

 
b.  X alone can do a piece of work in 6 days and Y alone in 8 days. X and Y undertook the 

work for Rs.4800. With the help of Z, they completed the work in 3 days. How much is Z’s 
share? (6m) 
X vd;gth; jdpNa xU Ntiyia 6 ehl;fspYk;> Y vd;gth; jdpNa mNj Ntiyia 8 
ehl;fspYk; Kbg;gh;. X kw;Wk; Y MfpNahh; ,e;j Ntiyia &.4800 ,f;F xg;Gf; nfhz;ldh;. 
Z vd;gthpd; cjtpAld;> mth;fs; me;j Ntiyia 3 ehl;fspy; Kbj;jdh; vdpy;> 
njhifapy; Z ,d; gq;F vt;tsT? 

 
25. Answer the following questions 

gpd;tUtdtw;wpw;F tpilasp 
 

a. The product of Kumaran’s age (in years) two years ago and his age four years from now is 
one more than twice his present age. What is his present age? 
Fkudpd; jw;Nghija tajpd; ,Uklq;NfhL xd;iwf; $l;bdhy; fpilg;gJ Fkudpd; 
,uz;lhz;LfSf;F Ke;ija taijAk; mthpd; 4 Mz;LfSf;Fg; gpe;ija taijAk; 
ngUf;ff; fpilg;gjw;Fr; rkk; vdpy; mthpd; jw;Nghija taijf; fhz;f.  

 

b. If Rs. 510 be divided among A, B, C in such a way that A gets 
2

3
 of what B gets and B gets 

1

4
 of what C gets, then their shares are respectively  

& 510 MdJ A, B kw;Wk; C f;F gfph;e;J mspf;fg;gLfpwJ. A vd;gth; ,jpy; B ngWk; 

njhifapy; 
2

3
 ngWfpwhh;. B vd;gth; ,jpy; C ngWk; njhifapy; 

1

4
 ngWfpwhh; vdpy; 

mth;fspd; gq;fPl;Lj; njhiffs;  
 

c. If half a meter of cloth costs Rs.15. Find the cost of 
1

8
3

 meters of the same cloth? 

miu kPl;lu; Jzpapd; tpiy &.15 vdpy; 
1

8
3

 kP ePsKs;s Jzpapd; tpiy vt;tsT? 

 


